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Question 1
The following answers had a decisive impact on the development of Russian civilization:

A) Geographical (geopolitical) factor
B) The natural and climatic factor
C) The religious factor
D) The factor of social organization
Question 2
The civilizational approach was characteristic of historical and philosophical views:
Possible answers
A) Engels
B) Spengler
C) Tikhomirova
D) Grekova
E) Danilevsky
F) Toynbee
Question 3
Russia's statehood has been continuously developing since:
Possible answers
A) 862
B) 882
C) 988
D) 907
E) 911
F) 957
Question 4
How many centuries has Russian statehood been around?
Possible answers
A) 12
B) 10
C) 11
D) 13
E) 14
Question 5
The Russian Federation consists of... subjects of the Federation. Specify the quantity:
Answer options
A) 85
B) 83
C) 89
D) 87
E) 90
Question 6
More than one million people live in the Russian Federation ... nationalities. Specify the quantity:
Answer options
A) 100
B) 170
C) 190
G) 1
